CLASS: VIII
DAILY ASSIGNMENT-16
DATE: 07. 05. 2020 (Week-3)
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: UNSEEN PASSAGE

Read the passage and choose the correct answer from the options.

The window offered a view of the house opposite. The two families did not speak to each
other because of a property dispute. One day, Ruchira's textbooks lay untouched as the young
girl's gaze was on the happenings in the house opposite. There were two new faces in the
neighbouring household — that of an elderly widow and a girls aged sixteen. Some times the
elderly lady would sit by the window, doing the young girl's hair. On other days she was
absent.

The new young neighbour's daily routine could be seen through the window — she cleaned the
rice paddy; split nuts, put the cushions in the sun to air them. In the afternoons while the men
were all at world some of the women slept and others played cards. The girl sat on the terrace
and read. Sometimes she wrote. One day there was hindrance. She was writing when the
elderly woman snatched the unfinished letter from her hands. Thereafter the girl was not to be
seen on the terrace. Sometimes during the day sounds came from the house indicating that a
massive argument was going on inside.

A few days passed. One evening Ruchira noticed the girl standing on the terrace in tears. The
evening prayer was in progress. As she did daily, the girl bowed several times in prayer. Then
she went downstairs.

That night Ruchira wrote a letter. She went out and posted it that very instant. But as she lay
in bed that night, she prayed fervently that her offer of friendship wouldn't reach its
destination. Ruchira then left for Madhupur and returned when it was time for college to start.
She found the house opposite in darkness, locked. They had left.

When she stepped into her room she found the desk piled with letters — one had a local stamp
on it with her name and address in unfamiliar handwriting. She quickly read it. They
continued to write to each other for the next twenty years.

1. Why did Ruchira write a letter to her new neighbour?

(1) She wanted to offer her, her help.

(2) She wanted to be friends with her.

(3) To apologize for her family's behaviour towards her family.
(4) To encourage her to continue learning to read and write.



2. Write the synonym for “Hindrance”

(1) handicapped

(2) delay

(3) interruption

(4) difficult

3. How did the new young neighbour spend her days?
(1) She was busy writing letters to Ruchira.

(2) She used to daydream about her past experiences.

(3) She would attend to the needs of the widow.
(4) She spent her time learning to read and write.

4. Why was the young neighbour prevented from sitting on the terrace?

(1) She used to while away her time instead of working

(2) The old woman could no longer keep an eye on her.

(3) She had not finished writing the letter she was asked to.

(4) She had been writing a letter which she wasn't supposed to.

5. What was the major argument in the house about?

(1) There were too many people living there, which resulted in arguments.
(2) The young girl was insisting on attending college.

(3) The young girl had been wasting her time instead of working.

(4) The old woman did not guard the young girl closely.

SUBJECT: COMPUTER
Multiple choice questions:

1.. 1. The Navigation pane appears on which side of the Access window by default?
a) Left

b) Right

c) Top

d) Bottom

2. Which of the following view enables to display the data in rows and columns in a
table?

a) Datasheet view

b) Navigation Pane

c) Design View

d) Data link view

3. Which of the following pane of the design view is mainly used for creating field’s
name, to specify field type, and enter field descriptions?

a) Top Pane

b) Bottom Pane

c) Right Pane

d) Left Pane



4. What is the size of the date/time data type?
a) 2 bytes
b) 4 bytes
c) 8 bytes
d) 6 bytes

5. Which of the following data types can store pictures, audio, video, or other BLOBs
(Binary Large Objects?).

a) Calculated

b) Attachment

c) Number

d) OLE objects

SUBJECT: MATHS
Multiple choice questions:

Which of the following is the product of 7/8 and -4/21?
. -1/6

. 1/12

. -16/63

IV. -147/16

2. Which of the following is the reciprocal of the reciprocal of a rational number?
. -1

i 1

1. 0

IV. The number itself

3. Which of the following lies between 0 and -1?

I. O

i -3
. -2/3
V. 4/3

4. What should be subtracted from -5/4 to get -1?
. -1/4

. 1/4

. 1

IvV. -3/4

5. Which of the following numbers is the decimal form of %47

[. -0.25
I. 25
. 0.25

Iv. -25



SUBJECT: PHYSICS

Multiple choice questions:
1. Forceisa
a. pull
b. push
c. both push or pull
d. neither push nor pull

2. Complete the formula:
Pressure = Force divided by ----------------
a. time
b. velocity
C. speed
d. area

3. The S.1 unit of Pressure is
a. Joule
b. Newton
c. Ampere
d. Pascal

4. The earth revolves around the sun due to
a. magnetic force
b. gravitational force
c. muscular force
d. frictional force

5. The speed and direction of a moving body can be change by
a. applying force
b. applying pressure
c. polishing
d. oiling
SUBJECT: CHEMISTRY

Multiple choice questions:

1. Which non metal is essential for our life and inhale during breathing?
A)H
B) O

C)C
D) N



2. Which one of the following metal is used thermometers?
A) Copper
B) Mercury
C) Aluminium
D) Iron

3. Which substance is present in fuel?
A) Copper
B) Iron
C) Gold
D) Carbon

4. Which of the following can't be beaten into sheets?
A) Zinc
B) Iron
C) Aluminium
D) Sulphur

5. Which one of the following are very reactive non metals?
A) Sodium
B) Potassium
C) Carbon
D) Phosphorous

SUBJECT: BIOLOGY
Multiple choice questions:

1. Penicillium is an example of:
(a) Algae

(b) Fungus

(c) Bacteria

(d) Yeast

2. Microorganisms are:

(a) Unicellular, microscopic

(b) Unicellular, can be seen through naked eyes
(c) Multicellular, microscopic

(d) Multicellular, can be seen through naked eyes



3. Mycology is a study of:
(a) Bacteria

(b) Fungi

(c) Insects

(d) Parasites

4. Among all microorganisms , the most adaptable and versatile microorganisms are:
(a) Viruses

(b) Bacteria

(c) Algae

(d) Fungi

5. The shape of coccus bacteria is generally:
(a) Spherical

(b) Rod like

(c) Comma shaped

(d) Spiral shaped

SUBJECT- HISTORY
Multiple choice questions:

1. The Mahalwari system was introduced in Western Uttar Pradesh, Madhya Pradesh and
?
A)) Gujarat
B.) Punjab
C.) Maharashtra
D.) Delhi
2. By 1810, the indigo imported to Britain from India was per cent.
A) 90
B) 95
C) 92
D) 100
3. is a unit of measurement of land.
A) Litre
B) Bigha
C) Kilogram
D) Milliliter
4. Who was the first indigo planter
A) William Bentinck
B) Lord Cornwallis
C) Thomas Munro
D) Louis Bonard
5. The Europeans depended on another plant other than the Indian indigo, which was:
A) Wool
B) Woad
C) Silk
D) Cotton



SUBJECT: GEOGRAPHY
Multiple choice questions:
Which of the following are the soil forming agents ?

a) Rain

b) Growing plants
c) Both (a) and (b)
d) Topography

2. What regulates soil formation?

a) Nature
b) Climate
c) Organism
d) Landscape

3. The process by which chemicals and nutrients in the soil are dissolved by excess water is
known as :

a) Weathering
b) Mulching
c) Erosion

d) Leaching

4. Natural factors responsible for soil degradation are
a) Land Slides
b) Floods
c) Surface run off
d) All of these
5. Legumes are used in inter cropping for increasing
a) Soil fertility
b) Soil erosion
c) Soil conservation

d) Soil degradation
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